Z:(1000) LB A H] 2 (1200) L B M H| & (1210) 018 22| Mg:(1211) - =D& 22| NIAISE: (110) 124 H] 2] [ AH]
ok = 7S I R == ] m}
Of & 9 & = | x=
Xt BB MIE HIMIE = of & ¥ = A 2
1000 [= 900,578 & 146,708,386 Xl 1,072,000 =& 7,700,000]
ot M H| 156,380, 964 164,374,005 A7,993,041 [D] 0o = 0 0 ]
1200 [= 900,578 & 146,708,386 Xl 1,072,000 =& 7,700,000]
QUEt M H| 156,380, 964 164,374,005 A7,993,041 [D] 0o = 0 0 ]
1210 [= 900,578 & 146,708,386 Xl 1,072,000 =& 7,700,000]
J| &l zte] 156,380, 964 164,374,005 A7,993,041 [D] 0o = 0 0 ]
1211
HEJ| = 22| 9,042,096 6,828,813 2,213,283
100
3 A0 A 851,096 975,813 AN124,717
110
o1 2H| 6,308 8,936 A2,628
101
el 6,308 8,936 AN2,628
6,308 8,936 A2,628/10 LAIAIS 010!
oENHBRE L H2HL
26,2802 x 1% x 20 x 1°¥ = 6,308
120
FAE A H| 844,788 966,877 A 122,089
201
B2 oy 503,978 584,347 A80,369




g 2t:(1200) & (1210) 71 & 22| Mgt (1211) 2D &l 2e| Ml : (120) Pl
ni = o o (= ] imi =
.2 g A MAE & oA s A&
503,978 584,347 A80,369|01 LEH2FHI
o Y Bt=ZH| 156,280
ozd+dg 101,390
Sa=il 39,000
SREPNI= 62,308
o A& Z = X 5,000
oEdEtEdE g8 40,000
oS =2 10,000
SANEXNARSE 2= 90,000
202
Ol 80,100 83,600 23,500
80,100 83,600 A3,500|01 =LHOHI
o=yl 80,100
SEHIIE 74,100
sSXNgs 6,000
203
ge=ad 201,860 198,980 2,880
11,200 11,200 0|01 J122dH
cJ|2A=2dY 11,200
|2l 2te 7,000
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Z:(1000) LB A H] 2 (1200) L B M H| & (1210) 018 22| Mg:(1211) - =D& 22| NIAIE: (220) RFAIAFS 2] [ AH]
t = ST I == e Im]
Of & 9 & = | x=
X 2 B NIEE. HIMIE = of & o = A 2
200
A O A 8,191,000 5,853,000 2,338,000
220
NSRS 8,191,000 5,853,000 2,338,000
207
Gyl R=14u] 480,000 830,000 A 350,000
300,000 650,000 A350,000|01 24|
o Z9AH| 300,000
SCAHMMOfE st=2AH|(pool) 300,000
180,000 180,000 0102 & APJHEHH]
o ™ A 180,000
- ILEAIOIE MHIA 28 180,000
- 219} A 2,000
- AlAE 2= 178,000
301
Bt AR 36,000 45,000 A9,000
36,000 45,000 A9,000|02 &st=z2UsHI2
ocRn2 UA2sSgER M2
900,000& x 28fJ| x 20¥ 36,000




T:(1000)LPHSH R H B (1200) 2 EHE HH| 5t (1210) 712 22| I (1211) B 20| 2 22| KIHI B : (220) KEHI AL S =3[ 8]
2 = S R im)
e = &t 3 | ES
.2 HIE A = Of & M = oA 2
306
E0i3 1,320,000 400,000 920,000 o BLHLMADY 2 1,200,000
CESYUUL 29 120,000
307
Q2o A 80,000 226,000 146,000
80,000 226,000 £146,000(02 212+ A
oEHYTONS 29 = 40,000
S BANH QA AAT I ALY = 40,000
308
PNIEIS 3,460,000 2,000 3,458,000
0l
3,460,000 2,000 3,458,000 (01 XIXISHH AN LEES
c2Xds AHE
4,000,0008 x 2 AlZ x 50% 4,000
oS IMIZA AZH X 3,456,000
403
XX EHH S 100,000 150,000 50,000
X201 &
100,000 150,000 ~50,000/03 HHIZSLXAN2BE
SHblZSLX 100,000




ZH:(1000) 2 Bred Al 2:(1200) L B FHI &h:(1210)01 8 &el Mg :(1211) =018l 2e] HIAIE: (220) REAIAHS (=3[ dE]

2 = S i)
of b o A 2 ol =
e = of & % = A
405
AHEES =8| 115,000 0 115,000
115,000 0 115,000 |01 K& =S ZFH=HI
CERANE HIDF = 5,000
oL SHOIX MH- 55,000,000& x 200 = 110,000
701
JIEtSI AHS 2,600,000 4,200,000 A1,600,000 cHLUSEENH HES = 2,600,000
£3
1212
Ol &F & Xb2kC| 127,489,270 138,213,417 210,724,147
100
a0l & 1,174,070 837,700 336,370
120
o H 3| 1,174,070 837,700 336,370
201
et | 387,030 296,700 90,330
387,030 296,700 90,330(01 Et2HH]
o ek 2| 254,000
J=HIMPH S = 54,000
CHE YR EXI(POOL) = 200,000
o2d+¢ = 13,230
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I (1000) LB A H| 2+ (1200) L BHEE A H| st (1210) 712 22 HIE: (1212) Ol AL E T 22 HIAIEE: (120) B &S 2| 2] A
t = ST I == e Im]
O AF oM A 2 ol =
X 2 B NIEE. HIMIE = of & o = A 2
50,000 50,000 0/10 BAAIHIE A2
o 8 AFAIH| 2 AF2 (POOL ) = 50,000
200
AFE Ol AF 126,315,200 137,375,717 A~ 11,060,517
220
KR AL 126,315,200 137,375,717 ~ 11,060,517
307
0120 & 2,000,000 2,000,000 0
2,000,000 2,000,000 0|03 AlEISHHIE X2
o AF3| SHRIE = 2 (POOL) = 2,000,000
403
XIS S 25,200 0 25,200
0| &
25,200 0 25,200/02 2| 2SOl CHEHCHE AFR
OXYUTHE HEAAL SHA B3 ALY = 25,200
703
mELIEE 121,682,0000  133,760,226| ~ 12,078,226 c DD E2 16,682,000
HEEZ
2006\ & 2 455,400,000,0002 x 3.6% = 16,394,000
S DA SR (2005E £) 8,000,000,0002 x 3.6% = 288,000




Z:(1000) LB A H] 2 (1200) L B M H| & (1210) 018 22| MIg: (1212) Ol AL E XF 22 NIAIE: (220) RFAIAFS H] [ AMH]
t = ST I == e Im]
Of & 9 & = | x=
X 2 B NIEE. HIMIE = of & o = A 2
o X & WAl = 105,000,000
705
=22 2,608,000 1,115,491 1,492,509
=N
2,608,000 1,115,491 1,492,509(02 Olz==20|AtAt&t
oEEJ|IZ2 =2 0lA = 2,608,000
1213
g2z 192,560 207,300 A 14,740
100
3 A0 A 192,560 207,300 A 14,740
120
AA XA 192,560 207,300 A 14,740
201
QB2 AH| 165,080 177,900 A 12,820
165,080 177,900 A12,820/01 L2
o b4 2H| = 130,500
cZZRZ L MA = 6,500
oYY = 20,880
o) = 7,200
202
o4 d] 17,280 19,200 A 1,920

_10_
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XH:(1000) L B+ H:(1200) L BHE A b 8t:(1210)71& 22 Mg :(1214) F 2 S8l 2tel HIMIE: (210) B EAFY EEMEEERCE]
= SIS R m
o o o i - A = 5 z
I 2 S MIE. NIMIE =2 O]l A oH = A 2
[=2 900,578 &= 373,720 Xl 0 0]
1,274,298 2,739,000 A1,464,702| [2I 0 2 0 o 0 ]
201
B2 Y| 331,200 0 331,200
331,200 0 331,200(01 LEr2AH|
S ANEHEEHES 2 HAIAE AR} = 331,200
(2) 132,480
() 198,720
207
o Oj ety 250,000 0 250,000
250,000 0 250,000(02 & AFJHEHH]
oXNBIIIS TN (2HX =) = 250,000
(=) 250,000
403
XXISHH S 693,098 0 693,098
20l A
693,098 0 693,098|01 XtXISHH AHE2E X
oANZP HBIED|IBAIAEH = = 418,098
(=) 418,098
oXBIIIE =4 = 275,000
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ZH:(1000) 2 Bred Al 2:(1200) L B FHI &h:(1210)01 8 &el Mg:(1214) 32 Ssl2e] NIAIE: (210) E R A Y (=3[ dE]

L = S == S i}
of & o A = 9l =
o 2 S NS AAE = o & o = A 2
(2) 100,000
(%) 175,000
220 [= 0 & 3,326,132 X 1,072,000 & 0]
XHAI AL 4,398,132 3,721,876 676,256 [l 0 = 0 0 ]
201
2 A H| 1,251,000 1,174,300 76,700
1,251,000 1,174,300 76,700/01 LEr2 |
CHENAANAL SEIX B2 = 500,000
oXUHHYFHEY FHARR = 669,000
oXXHBEEE 292 = 82,000
207
oI RIH et 87,220 345,317 NA258,097
87,220 195,317 A 108,097 |02 & AHHEHH
oNHEWATR2 )M 430,0008 x 602 = 25,800
CYUNHADPR PC WMAT2 )2 g
10,0008 x 3,000 = 30,000
CHNZNE QIAS/N Y 67,1008 x 2002 = 13,420
o2 U AIRE MIIX S/W P
180,0002 x 1002 = 18,000
303
ZAS 4,500 0 4,500 c 2R ARSI AXHE ZTA2 = 4,500
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Z:(1000) LB A H] 2 (1200) L B M H| & (1210) 018 22| High:(1214) B 2 S Al 22| NIAIE: (220) RFAIAFS Q&
t = ST I == e Im]
oI & = N = J| =
X 2 B NIEE. HIMIE = of & o = A 2
307
0120 & 25,000 30,000 A5,000
25,000 30,000 A5,000[04 QI2+SHAME XS EH
oZol HE3 A 25,000
=2/024 /&0 /S ® BRUE = 25,000
308
XIS S 88,512 180,270 AQ1,758
ol
88,512 180,270 A91,758|01 RIXISHHBAE X2
oZDINBS DRAY 6,876 x 40,000 x 30% = 82,512
CTAAHQIAMNAT [AZAKR HEED 6,000
- DIHI 5,0002 x 3Z x 40082 x 50% = 3,000
CUAEY 30,0002 x 10AI2F x 203 x 50% = 3,000
401
NEGEE! 1,671,000 249,999 1,421,001
Chl
1,661,000 249,999 1,411,001/01 Al&H
SHEY T O|ABA = 8,000
oUZHYS st YEYIAY USSR AH|ZAF
= 30,000
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X:(1000)UBHSH A Y] 2+:(1200) LB A H &t:(1210)0/& 22l Mgt (1214)H 2 S Al 22 HIAIE : (220) RERI A 2] [oe @]
L = S == S i}
Ol AF oA &t e y)
I 2 S MIE. NIMIE =2 O]l &b oM = A 2
o AMYA TEH (s M) HEE 2= = 15,000
oSMI L5 IAASHANZ DA = 9,000
OXMESAAIA 0| HAX(ZRAA) = 7,000
oZ-Al2 FABOAAH DH A = 1,472,000
(%) 400,000
(XI) 1,072,000
oRFHAN MAZSEIXI(UPS) & X = 120,000
10,000 0 10,000(04 4 AR Al & H|
CUHIESRD OIMZAHERAIA, 2HAH = 10,000
403
RXISHH S 150,000 300,000 A 150,000
el ™
150,000 300,000 A150,000/01 KX SHHI K28 X
O NEAIZEHOIX RE0IS FE0I8 F RS
1,000,0002 x 5000H0FS x 30% = 150,000
405
HAHE S 1,120,900 1,441,990 A321,090
1,120,900 1,441,990 A321,090/01 AL SEH SH|
oXNBHOIA|AE ol 200,000
DBE QA AEI ol = 50,000
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ZH:(1000) 2 Bred Al 2:(1200) L B FHI &h:(1210)01 8 &el Mg (1215) 8 23 2e| NIAIEE: (210) B =AY (=3[ dE]

t = 7SI R == Y Im]
oI & = &t = J| =
st NS MIAIE =2 O]l &b oM = A 2
5,090,000 0 5,090,000(01 XX SHHMBABEZ
SABEAIY (2R, B0, HUFR) = 5,090,000
() 5,090,000
403
XX SRS 1,910,000 7,000,000/ 5,090,000
ol ™
1,910,000 7,000,000 A5,090,000/01 KX S K=E =
oABEAY (2R, B, HUAR) = 1,910,000
() 1,910,000
220
KR AL 4,252,000 3,924,000 328,000
306
=02 332,000 0 332,000 | o XIS AEAS ALY 232,000
ZH=sAT/P = 180,000
Z=YT/P = 52,000
oXGEAEOG 22 = 100,000
307
0I2H0| A 1,920,000 1,914,000 6,000
1,790,000 1,914,000 A124,000/02 QI2tB AR X
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I (1000) L BFEHAH|  2H:(1200) 2 BHEH R H] 8t:(1210) | & 22| NIgt:(1215) 8 Al 23 el HIHIB: (220) RERIALES EL R
t = 7SI E I = I = Il
of Ab o A = Il =
.2 E NS AAE = o & % = A 2
OHMPBUSH(HLYUSIAIAE) THEX AL (2HIHHSEX)
150,000
EHSALY = 150,000
oXIETHEr SHAIAZFASH(NURI) AFS (2HIHSEXT)
1,200,000
CHEAMY (SFUSIMGS, SHUSIAISE)
500,000,000 x 2JH AbLI 1,000,000
- SEAY (MO RIAIYE S, DTS2l AP &)
100,000,000 x 2JH AHLI CH 200,000
oXYE Al EMSIAIY (ZHIHNSEX) 440,000
CALYED = 240,000
- H2ED = 200,000
130,000 0 130,000(04 ©I2tSH AL & 2| &
oXle - 2 Saletats &0} = 80,000
oEHAIZA0IIHOl 29 = 50,000
308
XX SHHE 690,000 10,000 680,000
ol &
690,000 10,000 680,00001 AXISHHBAEES
ol AN (NA) 690,000
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Z:(1000) LB A H] 2 (1200) L B M H| & (1210) 018 22| Mg (1215) a2 22| NIAIE: (220) RFAIAFS 2] [ AH]
ok = 7S I R == ] m}
Of & 9 & = | x=
Xt BB MIE HIMIE = of & ¥ = A 2
403
MXEHHS 1,310,000 2,000,000 A 690,000
=0l &
1,310,000 2,000,000 A690,000/01 IXSHHAZEE
o MEEAI (AA) = 1,310,000
1216
THOINMZ=H] 786,600 0 786,600
100
A0 A 103,600 0 103,600
110
ol 4 H| 28,000 0 28,000
101
o1y 28,000 0 28,000
28,000 0 28,000/10 LAIAIE I E L
o2 SRR 35,0002 x 8% x 1002 = 28,000
120
FAE A H| 75,600 0 75,600
201
B2 oy 9,500 0 9,500
9,500 0 9,500(01 LbBt2AH|
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X H:(1200) L BHEH A &t:(1210)0/& 22l Mg (1216) E & 0| ® =t RIMIE: (120) 2 A R A H QA
1 =2
. A = ul = At = =
Rt 2H. 8 MIE. MIMIE 2 =z A 2
OEHOIMFIXAE 29|
25,0002 x 10 x 12¥ 3,000
OZHOIM =& ZE Z | 6,500
202
o:15]] 19,000 19,000
19,000 19,000/01 =2LHOIH
OZHOIM HREX 19,000
203
e E=E=pNL] 17,100 17,100
2,100 2,100/01 J| A 2Y A2 =Xy|
OEHOIMFZRR A 2,100
12,000 12,000/03 Al E=X AR ZE A
oZHOIM =X 12,000
3,000 3,000/04 MY =Y
CoEHOIMFEX X 3,000
301
QB A 30,000 30,000
10,000 10,000|10 SHAMAIH| B A2
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ZH:(1000) LB Al 2:(1200) L BHEH A I &h:(1210)01 8 &el HI&:(1216) =& 0l & FH| NIAIEE: (220) REHI A [E2E][ER: ]

2 = S i)
of b o A 2 ol =
e = of & % = A
- A2 150,000& x 30¥ x 63 = 27,000
- Gort 150,000& x 70 x 33 = 31,500
207
sl Bl 500,000 0 500,000
500,000 0 500,000|01 <=l
cEHOIM TAJI=ZHE 29 = 500,000
N = & A 156,380,964 164,374,005 AT,993,041
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